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Paper No. : HIS-501

( History of Europe )
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( PART : B—DESCRIPTIVE )

( Marks : 45)

: The ﬁgures in the margin indicate full marks
for the questtons

. Define feudalism.. Descnbe the main features
of feudahsm GRS N AT , : SR 9
Or ' |

Henry VII sought to establish a strong
monarchy in England.” Discuss.

. Discuss the causes for the rise of Reformation
Movement. 9

Or

Examine the contributions in the field of
b science during the Renaissance period.

'22L/120a i (' Turn Over )

Scanned by CamScanner



(2)

3. Give a brief account on the beginning of
colonialism in Europe.

Or

What do you mean by an absolutist State? per

Discuss the features of an absolutist State.
2+7=9

NST
4. Discuss the main causes of the American War
of Independence. 9 the B
Or quote|
jescri
Examine the results of industrial revolution. ersa.
. . . . This ¢
5. Give a brief account of the socio-economic ad
condition of French society on the eve of the
. of
French Revolution. 9
fxam
Or
Vhile
Discuss the main events of the Concert of boolel
Europe. ' Writir
vy,
| i req
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Ba/His-501

2021
( 5th Semester )

HISTORY
Paper No. : HIS-501

( History of Europe )

( PART : A—OBJECTIVE )
( Marks : 25)

The figures in the margin indicate full marks for the questions

SECTION—I
( Marks : 10)

Write short notes on the following : 2x5=10

1. Two reasons for the decline of feudalism
Or

Ferdinand of Aragon
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2. Philip II of Spain
Or

Two effects of geographical discoveries
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3. Divine Right Theory
Or
Mercantilism
Ba/His-501/120
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4. Boston Tea Party
Or

Immediate cause of Glorious Revolution
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5. Continental system of Napoleon
Or

Conquer of Vienna

Ba/His-501/120

fic

Scanned by CamScanner



(7))

SECTION—II
( Marks : 10)

Tick (V) the correct answer in the brackets provided :
1x10=10

1. The War of Roses was fought between
(@) England and France ( )
(b) House of York and House of Lancaster ( )
(c) France and Spain ( )

2. The land associated with the castlc is known as

(¢) manor ( )
(b) fief ()
(c) | vassal ( )

3. Vasco da Gama reached India in
(a) 1497 ( )
(b) 1496 ()
(@ 1498 ()

4. The ‘Last Supper’ was painted by
(a) Raphael ( )
(b) Michelangelo ( )
(c) Leonardo da Vinci ()
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5. The Stamp Act was passed in the year

(@ 1765 ()
(b) 1764 - ( )
(c) 1766 ()

6. A spinning frame called water frame was invented by

(@) James Hargreaves ()
(b) Richard Arkwright ( | )
(c) Samuel Crompton ()

7. The Concert of Europe was formulated in

(@ 1814 ()
) 1813 ()
(c) 1815 ()

8. Liberty, equality and fraternity became the
watchwords during

(a) Industrial revolution ()
(b) French revolution ()
(c) American revolution ( )

9. Napoleon overthrew the"' directorate in |
(@) 1799 ()
(b) 1797 ( )
(c) 1798 ( )
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10. The Church of England was established during the
reign of

(@) Henry VII ( )
(b) Louis IX ( )
(c) Henry VIII ( )

SECTION—III
(Marks: S)

State whether the following statements are True (T)
| or False (F) by putting a Tick (v) mark : : 1x5=5

. Feudalism was a coercive system that granted few
individual liberties.

| (T / F)
2. In Praise of Folly was written by Martin Luther.
| (T / F)

3. Mercantilism was meant to serve the interest of the
empire and not the colony.

(T / F)

4. Industrial revolution in England did not disturb the
structure of English society.

(T / F)
5. Battle of Leipzig was the finale battle of Napoleon.
(T / F)
* * k
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